

















Substituting x<sup>k</sup> for x  

$$\frac{1}{1-x} \longleftrightarrow \langle 1,1,1,1,... \rangle$$

$$\frac{1}{1-x^{k}} = 1 + x^{k} + x^{2k} + x^{3k} \cdots$$

$$\longleftrightarrow \langle 1,0,...,0,1,0,...,0,1,0,... \rangle$$

$$k-1 \text{ zeros}$$

$$k-1 \text{ zeros}$$

$$k = 12 \text{ More}$$

$$k = 12 \text{ 2010}$$

$$k = 12 \text{ 2010}$$

Bananas in bunches of 3  

$$B(x) \longleftrightarrow \langle 1, 0, 0, 1, 0, 0, 1, 0, ... \rangle$$

$$B(x) = \frac{1}{1 - x^3}$$

Convolution Rule  

$$O(x) = \frac{1-x^3}{1-x} \quad We \text{ can use} \text{ the individual} \text{ generating} \text{ functions to} \text{ solve original} \text{ functions to} \text{ solve original} \text{ fruit problem!}$$







**Convolution Rule** The coefficient of  $x^{12}$  in the product  $A(x) \cdot B(x)$ :  $(a_0 x^0 + a_1 x^1 + \cdots + a_{11} x^{11} + a_{12} x^{12} + \cdots) \times$  $(b_0 x^0 + b_1 x^1 + \cdots + b_{11} x^{11} + b_{12} x^{12} + \cdots)$  $a_0b_{12} + a_1b_{11} + \ldots + a_{11}b_1 + a_{12}b_0$ 





## **Convolution Rule**

The gen func for choosing from a union of disjoint sets is the *product* of the gen funcs for choosing from each set.

Bags of Fruit  
Gen func for the bags of fruit:  

$$F(x) = O(x) \cdot A(x) \cdot B(x)$$

$$= \frac{1 - x^{3}}{1 - x} \cdot \frac{1}{1 - x} \cdot \frac{1}{1 - x^{3}}$$

$$= \frac{1}{(1 - x)^{2}}$$











## The Donut Number!

Using k different flavors, how many ways are there to form a bag of n donuts?

(You already know the answer to this one.)

The Donut Number!  
Using k different flavors, how  
many ways are there to form a  
bag of n donuts?  
$$\binom{n+k-1}{n}$$

The Donut Number!  
So coeff of 
$$x^n$$
 in  $\frac{1}{(1-x)^k}$  is  
 $\begin{pmatrix} n+k-1\\ n \end{pmatrix}$ 







Partial Fractions for H(x)  

$$H(x) = A_{1}\left[\frac{1}{1-2x}\right] + A_{2}\left[\frac{1}{1-x}\right]$$

$$h_{n} = A_{1} \cdot 2^{n} + A_{2} \cdot 1$$
TO DO: find  $A_{1}$  and  $A_{2}$ .

Solve for 
$$A_1$$
 and  $A_2$   

$$\frac{x}{(1-2x)(1-x)} = \frac{A_1}{1-2x} + \frac{A_2}{1-x}$$
Multiply both sides by denom of LHS.  
 $x = A_1(1-x) + A_2(1-2x)$ 

Solve for 
$$A_1$$
 and  $A_2$   
 $x = A_1(1-x) + A_2(1-2x)$   
Substitute in values for x.  
 $x = 1:$   
 $1 = A_2(1-2)$   $A_2 = -1$   
 $x = 1/2:$   
 $1/2 = A_1(1-1/2)$   $A_1 = 1$ 









Team Problems
Problems
1 & 2

6.042J / 18.062J Mathematics for Computer Science Spring 2010

For information about citing these materials or our Terms of Use, visit: http://ocw.mit.edu/terms.